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    ch +, +Hkkx 1 vko';d laLd``rch +, +Hkkx 1 vko';d laLd``rch +, +Hkkx 1 vko';d laLd``rch +, +Hkkx 1 vko';d laLd``r    
    izzFke lizzFke lizzFke lizzFke l====    
?kVd ?kVd ?kVd ?kVd 1111    izd`fr ifjp;%Aizd`fr ifjp;%Aizd`fr ifjp;%Aizd`fr ifjp;%A            
?kVd ?kVd ?kVd ?kVd 2222    d% vijk/khAd% vijk/khAd% vijk/khAd% vijk/khA            
?kVd ?kVd ?kVd ?kVd 3333    xqokZ"VdexqokZ"VdexqokZ"VdexqokZ"Vde~~~~%A%A%A%A        
?kVd ?kVd ?kVd ?kVd 4444    txR=k.kk; drZO;atxR=k.kk; drZO;atxR=k.kk; drZO;atxR=k.kk; drZO;a    i;kZoj.kj{k.kei;kZoj.kj{k.kei;kZoj.kj{k.kei;kZoj.kj{k.ke~~~~AAAA        
    vko';d laLd``rvko';d laLd``rvko';d laLd``rvko';d laLd``r    
    ch +, +Hkkx 1 vko';d ch +, +Hkkx 1 vko';d ch +, +Hkkx 1 vko';d ch +, +Hkkx 1 vko';d f}rh; l=f}rh; l=f}rh; l=f}rh; l=    
?kVd ?kVd ?kVd ?kVd 5555    Nk=Nk=Nk=Nk=lUns'k%AlUns'k%AlUns'k%AlUns'k%A        
?kVd ?kVd ?kVd ?kVd 6666    guqeRIyqfr%AguqeRIyqfr%AguqeRIyqfr%AguqeRIyqfr%A        
?kVd ?kVd ?kVd ?kVd 7777    jk{kl&jk{klhlaokn%Ajk{kl&jk{klhlaokn%Ajk{kl&jk{klhlaokn%Ajk{kl&jk{klhlaokn%A        
?kVd ?kVd ?kVd ?kVd 8888    izk.ksafnz;&laokn% izk.ksafnz;&laokn% izk.ksafnz;&laokn% izk.ksafnz;&laokn%     AAAA    

    ch +, +Hkkx 1 ,sfPNch +, +Hkkx 1 ,sfPNch +, +Hkkx 1 ,sfPNch +, +Hkkx 1 ,sfPNd laLd``rd laLd``rd laLd``rd laLd``r    mPp LrjmPp LrjmPp LrjmPp Lrj    izzFke lizzFke lizzFke lizzFke l====    
        
?kVd ?kVd ?kVd ?kVd 1111    ifjozkV~&ew"kd&dFkkifjozkV~&ew"kd&dFkkifjozkV~&ew"kd&dFkkifjozkV~&ew"kd&dFkkAAAA    
?kVd ?kVd ?kVd ?kVd 2222    eUnfolfiZ.kh&dFkkeUnfolfiZ.kh&dFkkeUnfolfiZ.kh&dFkkeUnfolfiZ.kh&dFkkAAAA    
????kVd kVd kVd kVd 3333    vQtyo/k%AvQtyo/k%AvQtyo/k%AvQtyo/k%A        
?kVd ?kVd ?kVd ?kVd 4444    o/kwgR;kAo/kwgR;kAo/kwgR;kAo/kwgR;kA        
        
    ch +, +Hkkx 1 ,sfPNch +, +Hkkx 1 ,sfPNch +, +Hkkx 1 ,sfPNch +, +Hkkx 1 ,sfPNd laLd``rd laLd``rd laLd``rd laLd``r    mPp Lrj mPp Lrj mPp Lrj mPp Lrj f}rh; l=f}rh; l=f}rh; l=f}rh; l=     
?kVd ?kVd ?kVd ?kVd 5555    ;{kiz'uk%A;{kiz'uk%A;{kiz'uk%A;{kiz'uk%A        
?kVd ?kVd ?kVd ?kVd 6666    MkW +ckcklkgsr vkacsMdjMkW +ckcklkgsr vkacsMdjMkW +ckcklkgsr vkacsMdjMkW +ckcklkgsr vkacsMdj    egksn;L;egksn;L;egksn;L;egksn;L;    fopkj df.kdkfopkj df.kdkfopkj df.kdkfopkj df.kdk    
?kVd ?kVd ?kVd ?kVd 7777    'kdqUryk izfrx`ga ;kfrA'kdqUryk izfrx`ga ;kfrA'kdqUryk izfrx`ga ;kfrA'kdqUryk izfrx`ga ;kfrA        
?kVd ?kVd ?kVd ?kVd 8888    mek gSeorh laokn% mek gSeorh laokn% mek gSeorh laokn% mek gSeorh laokn% AAAA    

    ch +, +Hkkx 1 ch +, +Hkkx 1 ch +, +Hkkx 1 ch +, +Hkkx 1 ,sfPNd,sfPNd,sfPNd,sfPNd    laLd``rlaLd``rlaLd``rlaLd``r    fuEu LrjfuEu LrjfuEu LrjfuEu Lrj    
    izzFke lizzFke lizzFke lizzFke l====    
?kVd ?kVd ?kVd ?kVd 1111    fnup;kZfnup;kZfnup;kZfnup;kZ        AAAA    
?kVd ?kVd ?kVd ?kVd 2222    cqf/n;ZL; cya rcqf/n;ZL; cya rcqf/n;ZL; cya rcqf/n;ZL; cya rL;L;L;L;            AAAA    
?kVd ?kVd ?kVd ?kVd 3333    izgsfydkA izgsfydkA izgsfydkA izgsfydkA     
?kVd ?kVd ?kVd ?kVd 4444    vgks #iegks /ofu%Avgks #iegks /ofu%Avgks #iegks /ofu%Avgks #iegks /ofu%A    
    vko';d laLd``rvko';d laLd``rvko';d laLd``rvko';d laLd``r        
    f}rh; l=f}rh; l=f}rh; l=f}rh; l=     
?kVd ?kVd ?kVd ?kVd 5555    'kcjho`rkUr%A'kcjho`rkUr%A'kcjho`rkUr%A'kcjho`rkUr%A        
?kVd ?kVd ?kVd ?kVd 6666    VkWyLVkW; vkJ;o.kZueVkWyLVkW; vkJ;o.kZueVkWyLVkW; vkJ;o.kZueVkWyLVkW; vkJ;o.kZue        
?k?k?k?kVd Vd Vd Vd 7777    Hkjr +dSds;h lsokn%AHkjr +dSds;h lsokn%AHkjr +dSds;h lsokn%AHkjr +dSds;h lsokn%A        
?kVd ?kVd ?kVd ?kVd 8888    ;kKoYD;&xkxhZlaokn%;kKoYD;&xkxhZlaokn%;kKoYD;&xkxhZlaokn%;kKoYD;&xkxhZlaokn%    AAAA    
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 iz'uif=dk Lo:i chiz'uif=dk Lo:i chiz'uif=dk Lo:i chiz'uif=dk Lo:i ch----,,,,----    Hkkx  1 laLÑr ¼vko';d Hkkx  1 laLÑr ¼vko';d Hkkx  1 laLÑr ¼vko';d Hkkx  1 laLÑr ¼vko';d 

o ,sfPNd mPPkLrj o fuEuLrj½½o ,sfPNd mPPkLrj o fuEuLrj½½o ,sfPNd mPPkLrj o fuEuLrj½½o ,sfPNd mPPkLrj o fuEuLrj½½    

,dw.k xq.k ,dw.k xq.k ,dw.k xq.k ,dw.k xq.k 

50505050    

iz”u 1yk ;ksX; i;kZ; fuoMk- 10 xq.k 

iz”u 2 jk   Hkk’kkarj djk ¼3 iSdh 2½ 

 

10 xq.k 

iz”u 3 jk llanHkZ Li’Vhdj.ks ¼3 iSdh 2½ 

 

10 xq.k 

iz”u 4 Fkk ifjPNsn fygk- ¼3 iSdh 2½ 

 

10 xq.k 

iz”u 5 ok nh?kksZRrjh iz”u @ nh?kksZRrjh iz”u 10 xq.k 

    

led{krkled{krkled{krkled{krk    
 chchchch----,,,,----    Hkkx  1 laLÑr ¼vko';d½Hkkx  1 laLÑr ¼vko';d½Hkkx  1 laLÑr ¼vko';d½Hkkx  1 laLÑr ¼vko';d½ 
 ifgys l= ifgys l= ifgys l= ifgys l=     

vH;klif=dk Øekad vH;klif=dk Øekad vH;klif=dk Øekad vH;klif=dk Øekad A 
 ifgys l= ifgys l= ifgys l= ifgys l=     

vH;klif=dk Øekad vH;klif=dk Øekad vH;klif=dk Øekad vH;klif=dk Øekad A 
 nqljs l= nqljs l= nqljs l= nqljs l=     

vH;klif=dk Øekad vH;klif=dk Øekad vH;klif=dk Øekad vH;klif=dk Øekad B 
 nqljs l= nqljs l= nqljs l= nqljs l=     

vH;klif=dk Øekad vH;klif=dk Øekad vH;klif=dk Øekad vH;klif=dk Øekad B 
    
 chchchch----,,,,----    Hkkx  1 laLÑr ¼,sfPNd mPPkLrj o fuEuLrj½Hkkx  1 laLÑr ¼,sfPNd mPPkLrj o fuEuLrj½Hkkx  1 laLÑr ¼,sfPNd mPPkLrj o fuEuLrj½Hkkx  1 laLÑr ¼,sfPNd mPPkLrj o fuEuLrj½ 
 ifgys l= ifgys l= ifgys l= ifgys l=     

vH;klif=dk Øekad 1vH;klif=dk Øekad 1vH;klif=dk Øekad 1vH;klif=dk Øekad 1 
 ifgys l= ifgys l= ifgys l= ifgys l=     

vH;klif=dk Øekad 1vH;klif=dk Øekad 1vH;klif=dk Øekad 1vH;klif=dk Øekad 1 
 nqljs l= nqljs l= nqljs l= nqljs l=     

vH;klif=dk Øekad 2vH;klif=dk Øekad 2vH;klif=dk Øekad 2vH;klif=dk Øekad 2 
 nqljs l= nqljs l= nqljs l= nqljs l=     

vH;klif=dk Øekad 2vH;klif=dk Øekad 2vH;klif=dk Øekad 2vH;klif=dk Øekad 2 
    


